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DDiirreeccttiioonnss:: Choose the word on the right 
that best expresses a relationship similar 
to that of the original pair. 
 

 
A rose is a kind of flower. 
A hammer is a kind of tool.  
 

Example: 

 
  

##))     DARK : LIGHT 

LITTLE: 

AA..  angry 

BB..  big 

CC..  rainy 

 

22))  MOUTH : EAT 

FEET : 
AA..  talk 

BB..  walk 

CC..  see 

 

33))  FIRE : HOT 

ICE : 

AA..  blue 

BB..  tired 

CC..  cold 

 

44))  DIRT : BROWN 

LEAVES : 

AA..  gray 

BB..  green 

CC..  purple 

 

55))  FLOWER : PLANT 

DOG : 
AA..  house 

BB..  animal 

CC..  brother 

 

 

66))  TEACHER : SCHOOL 

DOCTOR : 
AA..  hospital 

BB..  house 

CC..  restaurant 

 

77))  BOOK : READ 

TELEVISION : 

AA..  watch 

BB..  eat 

CC..  sleep 

 

88))  AWFUL : BAD 

FANTASTIC : 

AA..  delicious 

BB..  good 

CC..  sunny 

 

99))  THIRSTY : DRINK 

HUNGRY : 
AA..  write 

BB..  hear 

CC..  eat 

 

1100))   BIG : LARGE 

LITTLE : 
AA..  tall 

BB..  quick 

CC..  small 

11))  GOOD : BAD 

HAPPY : 
AA..  sad 

BB..  great 

CC..  smile 
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Answers and Explanations 

 
1) A 
Good is the opposite of bad. Happy is the opposite of sad. Therefore (A) is correct. 

  
2) B 
Your mouth is used to eat. Your feet are used to walk. Therefore (B) is correct. 

 
3) C 
A characteristic of fire is to be hot. A characteristic of ice is to be cold. Therefore (C) is correct. 

 
4) B 
A characteristic of dirt is to be brown. A characteristic of leaves is to be green. Therefore (B) is correct. 

 
5) B 

A flower is a type of plant. A dog is a type of animal. Therefore (B) is correct. 

  

6) A 

A teacher works at a school. A doctor works at a hospital. Therefore (A) is correct. 

 
7) A 

The function of a book is for people to read it. The function of a television is for people to watch it. Therefore (A) is correct. 

  
8) B 

Something that is awful is very bad. Something that is fantastic is very good. Therefore (B) is correct. 

 
9) C 

Someone who is thirsty needs to drink. Someone who is hungry needs to eat. Therefore (C) is correct. 

  
10) C 
Big means the same thing as large. Little means the same thing as small. Therefore (C) is correct. 


